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Section A — Hostile world
Answer one question from Section A, either Question 1 or Question 2.

Use case studies to support your answers where appropriate.

Total for this question: 43 marks

Living with natural hazards
1 Study Figure 1. Figure 1 shows the locations of plate boundaries.

Figure 1
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1 (a) With the help of Figure 1, describe the distribution of plate boundaries.
[3 marks]
Question 1 continues on the next page
Turn over »
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1 (b) Study Figure 2. Figure 2 shows two types of plate boundary.
Figure 2

Plate boundary A Plate boundary B

1 (b) (i) Add the following labels to the correct boxes in Figure 2.

[2 marks]
oceanic plate mantle subduction zone
1 (b) (ii) Choose either plate boundary A or plate boundary B.
Explain why volcanoes form at your chosen plate boundary.
Use Figure 2 and your own knowledge.
[4 marks]
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1 (c) Explain how the damaging effects of earthquakes can be reduced.
[6 marks]
= T o 7= [ =
Question 1 continues on the next page

Turn over »
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1 (d) Study Figure 3. Figure 3 shows tropical storm tracks.

Figure 3
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Key
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1 (d) (i) Describe the distribution of tropical storm tracks.

Southern Ocean

[2 marks]
1 (d) (ii) Describe the possible effect of climate change on tropical storms.
[3 marks]
0 6 G/Jun15/90352H



1 (e) Describe the primary effects of a tropical storm.

Use an example(s) of a tropical storm that you have studied.
[6 marks]

Question 1 continues on the next page

Turn over »
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1 (f) Study Figure 4 in the insert. Figure 4 shows a tropical storm shelter.
Suggest how the tropical storm shelter shown in Figure 4 reduces the risks to people

from tropical storms.
[2 marks]

1 (9) Study Figure 5 in the insert. Figure 5 gives information about wildfires in
south-east Australia.

Natural factors are the main reason why south-east Australia is affected by wildfires.
Do you agree with this view? Give reasons for your decision.
Use Figure 5 and your own knowledge.

[8 marks]
[SPaG 3 marks]
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Question 1 continues on the next page
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1 (h) Study Figure 6. Figure 6 gives information about wildfires in south-east Australia.

Figure 6

A wildfire has destroyed at least 33 homes in New South Wales,
damaged an observatory and forced staff to evacuate. Fires are also
burning in Victoria and Tasmania, where a firefighter died tackling a
blaze. A wildfire in the Coonabarabran area burned through 40000
hectares of grassland and woodland, home to many wildlife species.
The smoke from the fire extended 14 km into the air. Extra firefighters,
along with helicopters from neighbouring areas, have been brought in
to tackle the blaze.

Suggest how the damaging effects of wildfires can be reduced.

Use Figure 6 and your own knowledge.
[4 marks]
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Total for this question: 43 marks
The challenge of extreme environments

2 Study the diagram below which shows why an area of hot desert has formed.

Key
== Prevailing wind 9 100km
2 (a) With the help of the diagram above, describe the formation of a hot desert.
[3 marks]

Question 2 continues on the next page

Turn over »
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2 (b) Study Figure 7. Figure 7 shows causes of desertification.
Figure 7
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2 (b) (i) Add the following labels to the correct boxes in Figure 7.

[2 marks]
climate change deforestation overgrazing
2 (b) (ii)) Choose one of the causes of desertification shown in Figure 7.
Explain how your chosen cause leads to desertification.
[4 marks]
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2 (c) Describe the methods used to reduce desertification.

Use an example(s) that you have studied.

Turn over »
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2 (d) Study Figure 8. Figure 8 shows the distribution of cold environments.
Figure 8
| Tropic of &
Cancer
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Describe the distribution of cold environments.
[2 marks]
2 (e) Suggest how climate change might affect cold environments.
[6 marks]
1 &4 G/Jun15/90352H
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Question 2 continues on the next page
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2 (f)

Study Figure 9 in the insert. Figure 9 gives information about the development of
Antarctica.

Development in Antarctica would bring more advantages than disadvantages.

Do you agree with this view? Give reasons for your decision.

[8 marks]
[SPaG 3 marks]
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2 (g) (i) Explain why the tropical rainforest environment has high annual rainfall.
[3 marks]
2 (g) (ii) Give two causes of deforestation in tropical rainforests.
[2 marks]
ettt ettt e e e e e e e e EEeeeeeeeeeeeaanaeeeeeeeeeeeaaanatteeeeeeeeeaaanneteeeeeeeeeaannnaaneeeeaannnrneees
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Question 2 continues on the next page
Turn over »
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2 (h) Study Figure 10. Figure 10 shows the features of a management scheme in a tropical
rainforest environment.
Figure 10

Visitor centre

+—=Z

. Tropical rainforest Deforested area

) | Reforested area B Buildings 0 1 km

e — |

Suggest how the features shown in Figure 10 can help to protect the tropical rainforest
environment.
[4 marks]
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Section B — Shrinking world
Answer one question from Section B, either Question 3 or Question 4.

Use case studies to support your answers where appropriate.

Total for this question: 43 marks
Investigating the globalisation of industry

3 Study Figure 11. Figure 11 shows the countries of origin of some food items sold in
United Kingdom (UK) supermarkets.

Figure 11

Z% Oranges
from Spain
Walnuts

Bananas
from Honduras

Coffee from

Costa Rica
Melons ' \D
from Brazil
G fi :
s o
3 (a) Suggest how Figure 11 shows that people in the UK are ‘global consumers’.
[1 mark]

Question 3 continues on the next page

Turn over »
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3 (b)

Why has industry become increasingly globalised?
[4 marks]

2 0
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3 (c) Study Figure 12. Figure 12 shows indicators of development for four countries.
Figure 12
Indicator
Country GNI Life expectancy
(US$) (years)

Mexico 15 800 77

Nepal 1390 68

Thailand 8 620 74

UK 36 560 81
Give evidence to show that a ‘development gap’ exists between the countries shown in
Figure 12.

[2 marks]
Question 3 continues on the next page
Turn over »
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3 (d) Study Figure 13. Figure 13 shows the location of car factories owned by a
Transnational Corporation (TNC).

Figure 13
Car factories in Europe
Austria 1 Germany 28| |[Slovakia 2
Belgium 1 Holland 2| |Spain 4
Bosnia and Herzegovina | 1 Hungary 1 Sweden 3
Czech Republic 4| |ltaly 2| |Switzerland | 2
Denmark 2| |Poland 7| |Turkey 1
France 3| |Portugal 1 UK 1
\ [

el

South Africa | 3]

——

[3 marks]
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3 (e) Explain how the development of Transnational Corporations can create socio-economic
opportunities for a country.

[8 marks]

[SPaG 3 marks]

Question 3 continues on the next page

Turn over »
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3 (f) Explain how changing industrial structure in an area can affect people and the
environment.
[6 marks]

Question 3 continues on page 26
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Question 3 continues on the next page
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3 (9) Study Figure 14. Figure 14 shows the location of the proposed site for a science and
research park in a more developed country.

/

Figure 14
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3 (g) (i) Describe the location of the proposed site for a science and research park.
[3 marks]
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3 (g) (ii) Suggest why this may be a good location for a science and research park.
[3 marks]

3 (g) (iii) Suggest why people living in the village shown in Figure 14 might object to the
development of a science and research park site.
[4 marks]

Question 3 continues on the next page

Turn over »
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3 (h) Study Figure 15 on the insert. Figure 15 shows an old polluting factory.
Explain how modern industry can be more environmentally sustainable.
[6 marks]
EXErA SPACE ..o
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Total for this question: 43 marks
Investigating global tourism

4 Study Figure 16. Figure 16 shows some destinations for tourists from the UK.

Figure 16
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4 (a) Suggest how Figure 16 shows that tourism is a ‘global industry’.
[1 mark]
4 (b) Why has tourism become more of a ‘global industry’?
[4 marks]
Turn over »
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1 = TS o 7= [ =
4 (c) Study Figure 17. Figure 17 shows indicators of development for four countries.
Figure 17
Indicator
Country GNI Life expectancy
(US$) (years)
Mexico 15 800 77
Nepal 1390 68
Thailand 8 620 74
UK 36 560 81

Give evidence to show that a ‘development gap’ exists between the countries shown in
Figure 17.
[2 marks]
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4 (d) Study Figure 18. Figure 18 shows the number of international tourist arrivals in less
developed countries and in more developed countries.

Figure 18
1200
1000
800
K
Number of ey
international [ ] Less developed
tourist arrivals countries
(in millions) ] More developed
400 countries
200 J
0

1980 1990 2000 2010 = 2020
(estimate)

Year

Describe the differences in tourist arrivals between less developed countries and more
developed countries.
[3 marks]

Question 4 continues on the next page

Turn over »

31

G/Jun15/90352H

Do not write
outside the

box



32

4 (e)

Explain how the development of tourism can create socio-economic opportunities for a
country.

Use an example(s) you have studied.

[8 marks]
[SPaG 3 marks]
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4 (f) Describe the impacts of the decline in tourism.

Use an example(s) you have studied.
[6 marks]

Question 4 continues on the next page

Turn over »
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4 (g) Study Figure 19. Figure 19 shows the location of a proposed site for a tourist
development in a more developed country.
Figure 19
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4 (g) (i) Describe the location of the proposed site for a tourist development.
[3 marks]
3 4 G/Jun15/90352H
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4 (g) (ii)) Suggest why this may be a good location for a tourist development.
[3 marks]

4 (g) (iii) Suggest why people living in the village shown in Figure 19 might object to a tourist
development at the proposed site.
[4 marks]

Question 4 continues on the next page

Turn over »

35

G/Jun15/90352H

Do not write
outside the
box



36

4 (h) Study Figure 20 on the insert. Figure 20 shows how tourism can put pressure on the
environment.

Explain how a tourist destination, such as that shown in Figure 20, can be more

environmentally sustainable.
[6 marks]

END OF QUESTIONS
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